



St. Louis County, Minnesota

Date of Report: 5/13/2025 1:14:45 PM

General Details

 Parcel ID:
 141-0010-02260

 Document:
 Abstract - 01420302

Document Date: 06/23/2021

Legal Description Details

Plat Name: HIBBING

Section Township Range Lot Block

12 56 20 -

Description: SE 1/4 OF SE 1/4 EX S 660 FT

Taxpayer Details

Taxpayer Name WHEELECOR MATTHEW & KENDRA

and Address: 3145 HWY 5

HIBBING MN 55746

Owner Details

Owner Name WHEELECOR KENDRA
Owner Name WHEELECOR MATTHEW

Payable 2025 Tax Summary

2025 - Net Tax \$5,950.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$5,950.00

Current Tax Due (as of 5/12/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,975.00	2025 - 2nd Half Tax	\$2,975.00	2025 - 1st Half Tax Due	\$2,975.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,975.00	
2025 - 1st Half Due	\$2,975.00	2025 - 2nd Half Due	\$2,975.00	2025 - Total Due	\$5,950.00	

Parcel Details

Property Address: 3145 HWY 5, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: WHEELECOR, MATTHEW C & KENDRA L

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$36,800	\$348,300	\$385,100	\$0	\$0	-		
111	0 - Non Homestead	\$5,800	\$0	\$5,800	\$0	\$0	-		
	Total:	\$42,600	\$348,300	\$390,900	\$0	\$0	3790		





St. Louis County, Minnesota

Date of Report: 5/13/2025 1:14:45 PM

Land Details

Deeded Acres: 20.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

Improvement 1 Details (HOUSE)									
Improvement Type	Year Built	Main Floor Ft ² Gross Are		Gross Area Ft ²	Basement Finish	Style Code & Des			
HOUSE	1930	1,89	96	2,346	-	1S+ - 1+ STORY			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	12	22	264	FOUNDAT	TON			
BAS	1	16	30	480	FOUNDAT	TON			
BAS	1	24	23	552	FOUNDAT	TON			
BAS	1.7	20	30	600	FOUNDAT	TON			
OP	1	9	24	216	POST ON GF	ROUND			
Bath Count	Bedroom Cou	nt	Room C	Count	Fireplace Count	HVAC			
2.75 BATHS	3 BEDROOM	S	5 ROO	MS	-	C&AIR_COND, GAS			
Improvement 2 Details (ATT GARAGE)									
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De			
GARAGE	1975	72	0	720	-	ATTACHED			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	24	30	720	FOUNDATION				
		Improvem	ent 3 Det	tails (GAR/BAF	RN)				
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De			
GARAGE	2001	72	0	720	-	DETACHED			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	24	30	720	SHALLOW FOU	NDATION			
		Improvem	ent 4 Det	tails (HAY BAF	RN)				
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De			
POLE BUILDING	1987	1,00	00	1,000	-	-			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	25	40	1,000	POST ON GF	ROUND			
Improvement 5 Details (STRG SHED)									
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & De			
TORAGE BUILDING	1986	64 64		64	<u> </u>				
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	8	8	64	POST ON GE	CLIND			





St. Louis County, Minnesota

Date of Report: 5/13/2025 1:14:45 PM

						·			
		Improveme	ent 6 Details (V	VOOD LNTO)					
Improvement Typ	oe Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ²			sement Finish Style Code & Desc.			
LEAN TO 1988		32	324 324		-			-	
Segment Story		y Width	Width Length Area			Foundation			
BAS	1	18	18	324	POST ON GROUND				
		Sales Reported	to the St. Lou	is County Au	ditor				
Sa	ale Date		Purchase Price		CRV Number				
C	6/2021	\$285,000 (This is part of a mu		243836				
C	5/2006	\$305,000 (This is part of a mu		171588				
C	1/2000	\$25,000 (T	his is part of a mul	ti parcel sale.)		133954			
C	4/1999	\$24,000 (T	\$24,000 (This is part of a multi parcel sale.)			129224			
	7/1998	, , ,	his is part of a mult	· /		123300			
С	9/1991	\$31,583 (T	his is part of a mul	part of a multi parcel sale.) 83050					
		A	ssessment His	story					
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	De Lan EM	id B	ef Idg MV	Net Tax Capacity	
2024 Payable 2025	201	\$39,500	\$358,000	\$397,500	\$0		\$0	-	
	111	\$6,500	\$0	\$6,500	\$0	, ;	\$0	-	
7	Total	\$46,000	\$358,000	\$404,000	\$0	. :	\$0	3,932.00	
	201	\$41,400	\$331,700	\$373,100	\$0	, ;	\$0	-	
2023 Payable 2024	111	\$6,900	\$0	\$6,900	\$0	, ;	\$0	-	
·	Total	\$48,300	\$331,700	\$380,000	\$0		\$0	3,763.00	
	201	\$34,700	\$236,200	\$270,900	\$0	, ;	\$0	-	
2022 Payable 2023	111	\$5,300	\$0	\$5,300	\$0) ;	\$ 0	-	
•	Total	\$40,000	\$236,200	\$276,200	\$0	. :	\$0	2,633.00	
2021 Payable 2022	201	\$31,900	\$189,300	\$221,200	\$0	, ;	\$0	-	
	111	\$4,600	\$0	\$4,600	\$0) ;	\$ 0	-	
	Total	\$36,500	\$189,300	\$225,800	\$0) :	50	2,085.00	
			Tax Detail Histo	ory					
Tax Year	Tax Year Tax Ass		Total Tax & Special Assessments	Taxable Lan	Taxable Building		Total	Total Taxable MV	
2024	\$5,500.00	\$0.00	\$5,500.00	\$47,894	\$	328,445	\$376,339		
2023	\$4,426.00	\$0.00	\$4,426.00	\$38,353	\$	224,988	\$263,341		
2022	\$3,576.00	\$0.00	\$3,576.00	\$34,001	\$	174,467	\$208,468		





St. Louis County, Minnesota

Date of Report: 5/13/2025 1:14:45 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.